## Bid Tabulation Packet for Solicitation OPN2127978B1

# New Actuators, Actuator Parts, Accessories & Repair Services

**Bid Designation: Public** 



**Broward County Board of County Commissioners** 

### Bid #OPN2127978B1 - New Actuators, Actuator Parts, Accessories & Repair Services

Creation Date Feb 1, 2024

**End Date** 

Mar 7, 2024 2:00:00 PM EST

Start Date

Feb 7, 2024 4:50:02 PM EST

Awarded Date Not Yet Awarded

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Instrument Specialties Inc	First Offer - 5.00%	1 / contract	5.00%		Υ
Agency Notes:		Supplier Product Code: Supplier Notes:Manufacturer Offered Auma Warranty (Years) 1 Delivery (Calendar Days) 120			
CS3 Waterworks	First Offer - 5.00%	1 / contract	5.00%		Υ
Agency Notes:		Warranty (Years) 1 Delivery (Calendar Da Delivery dependent on order. No published list	facturer Offered Auma  ys) 30 - 365 days specific actuator required pricing or MSRP available ired list price" prior to inv	e. Will provi	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Instrument Specialties Inc	First Offer - 5.00%	1 / contract	5.00%		Υ	
Agency Notes:		Supplier Product Code: Supplier Notes:Manufacturer Offered Auma Warranty (Years) 1 Delivery (Calendar Days) 14				
CS3 Waterworks	First Offer - 5.00%	1 / contract	5.00%		Υ	
Agency Notes:		time of order. No publis		available. W	ill provid	

OPN2127978B101-03 Group 1: AU	MA Actuator - Testing, Calibratio			Y	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Instrument Specialties Inc	First Offer - \$1,295.00	3 / lump sum	\$3,885.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	Testal Allen		25
CS3 Waterworks	First Offer - \$1,350.00	3 / lump sum	\$4,050.00		Υ
Agency Notes:		Supplier Notes: Unit price is per maximu holidays.	ım 8-hour day Monday	-Friday excl	uding

OPN2127978B101-04 Group 1: AU	MA Actuator - Installation Servic	es, labor with superv	rision (2 member crew)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CS3 Waterworks	First Offer - \$295.00	50 / hour	\$14,750.00		Υ
Product Code: Agency Notes:		Warranty (Years) 1 Delivery (Calendar D	ufacturer Offered Auma		devent.
Instrument Specialties Inc	First Offer - \$325.00	50 / hour	\$16,250.00		Υ
Agency Notes:		Supplier Product Code: Supplier Notes:Manufacturer Offered Auma Warranty (Years) 1 Delivery (Calendar Days) N/A			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes: Manufacturer Offered Warranty (Years) Delivery (Calendar Days):			

	OPN2127978B102-02	Group 2: ROTORK	Actuator or	Approved Equal:	Parts and Accessories:	(Discounted Rate):	
- 0						4	

## Broward County Board of County Commissioners

	Odunt	y Commissioners	Page 4 of 6		of 6
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes: Manufacturer Offered Warranty (Years) Delivery (Calendar Days):			

OPN2127978B102-03 Group 2: ROTOR	K Actuator - Testing, Ca	alibration Start-up Service	es .		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		Oncorn
Agency Product Code: Agency Notes:		Supplier Notes:		•	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes: Manufacturer Offered Warranty (Years) Delivery (Calendar Days):			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
distance of the state of the st	الإحمية الأميان فالماليم		No Bids		MILES.
Agency Product Code: Agency Notes:		Supplier Notes: Manufacturer Offered Warranty (Years) Delivery (Calendar Days):			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids	0.040	100
Agency Product Code: Agency Notes:	The second second	Supplier Notes: Manufacturer Offered Warranty (Years) Delivery (Calendar Days):			

DPN2127978B1–03-03 Group 3: LIMITORQUE Actuator - Testing, Calibration Start-up Services								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
			No Bids					
Agency Product Code: Agency Notes:		Supplier Notes:		•				

OPN2127978B103-04 Group 3: LIMITORQUE Actuator - Installation Labor with supervision (2 member crew)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code:		Supplier Notes:			



OPN2127978B1-04-01 Group 4: REX	(A Manufactured New Actuator	s or Approved Equal: (	Discounted Rate):		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
REXA	First Offer - 0.00%	1 / contract	0.00%		Y
Product Code: Agency Notes:		Supplier Product Code:X3 Rotary Series Actuators Supplier Notes:Manufacturer Offered REXA, Inc. Warranty (Years) 5 Years Delivery (Calendar Days) TBD Factory Direct Pricing, which is the lowest available.			

OPN2127978B1–04-02 Group 4: REXA Actuator or Approved Equal: Parts and Accessories: (Discounted Rate):						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
REXA	First Offer - 0.00%	1 / contract	0.00%		Y	
Product Code: Agency Notes:		Warranty (Years) 1 Delivery (Calendar Da	otes:Manufacturer Offered REXA, Inc. Years) 1			

OPN2127978B1-04-03 Group 4	l: REXA Actuator - Testing, Calibration	Start-up Services			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
REXA	First Offer - \$5,000.00	3 / lump sum	\$15,000.00		Y
		Supplier Product Code:REXA Service Supplier Notes:Factory Direct Pricing, which is the lowest availa			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
REXA	First Offer - \$400.00	50 / hour	\$20,000.00		Υ
Product Code: Agency Notes:	gency Notes:		de:REXA Labor ufacturer Offered REXA, ays) TBD which is the lowest availa		

#### **Supplier Totals**

CS3 Water	works	\$18,800.00	(4/16 items
Bid Contact	Brian Drexel cs3.brian@cs3waterworks.com Ph 352-546-2115	Address PO Box 390 Orange Springs, FL 32182	
Agency No	tes:	Supplier Notes:	
instrumer	nt Specialties Inc	\$20,135.00	(4/16 items
Bid Contact	Michael Parnell mikep@isisales.com Ph 407-324-7800	Address 3885 St Johns Parkway Sanford, FL 32771	
Supplier Co	de <b>V</b> C0000027325		
Qualificatio	ns SB		
Agency Not	tes:	Supplier Notes:	
REXA		\$35,000.00	(4/16 items
Bid Contact	Chad Ballard CBALLARD@REXA.COM Ph 508-208-0726	Address West Bridgewater, MA 0237	9
Bid Notes	This Bid Offer is for Group 4, REXA Actuators, only.		
Agency Not	res:	<b>Supplier Notes:</b> This Bid Offer is for Group 4, REXA Actua	ators, only.